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QUESTION 1
This question requires that you evaluate the underlined text to determine if it is correct.
Use indexing to create, remove, or change database objects.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct.

A. No change is needed.

B. Data manipulation language (DML) statements
C. Data definition language (DDL) statements

D. A unique constraint

Correct Answer: C

QUESTION 2

You have a table named Student that contains 100 rows. Some of the rows have a NULL value in the FirstName
column. You execute the following statement:

DELETE FROM Student

What is the result?

A. All rows in the table will be deleted.

B. All rows containing a NULL value in the FirstName column will be deleted.
C. You will receive an error message.

D. All rows and the table definition will be deleted.

Correct Answer: A

QUESTION 3

One reason to add an index is to:

A. Decrease storage space.

B. Increase database security.

C. Improve performance of select statements.
D. Improve performance of insert statements.

Correct Answer: C
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QUESTION 4

On which database structure does an insert statement operate?
A. Role

B. Trigger

C. User

D. Stored procedure

E. Table

Correct Answer: E

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.

Ports 20 and 21 are the default ports to secure a SQL Server.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the

statement is incorrect, select the answer choice that makes the statement correct.
A. No change is needed

B. 1433 and 1434

C. 411 and 412

D. 67 and 68

Correct Answer: B
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